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£ 4 B/E)

[ s 6-10 76-79 7.8 I
F4EE (mg/) 100 30 - 38 34.0 =
BEEE Y E  (mg/) 10 2.6-3.3 2.9 =
MY 48 (mg/l) 2,000 524 - 880 698 =
WAL 4E & (mg/) 10 <0.5 <0.5 =
FEEE (mg)) 0.1 <0.04 <0.04 =
RIFE Y E  (mg/) 100 32-48 40 2
HHE  (mg/) 20 <10-11 10 =
&g  (mg/l) 0.5 <0.3 <0.3 =
ek A E (mel) 1 <0.6 <0.6 =
FHVE MR (mg/) 15 <7.0 <7.0 =
(EEFAE (me/) 2,000 244 - 400 335 pss
A% R (mg/) 200 58 - 90 70 2
g (0) 43 27 - 28 27 s
TV E (mg)) # _ _ ) ]
EEEE

i (mg/) 2 <0.4 <0.4 yass
#H (mg/l) 5 <1 <1 2
5% (mg/l) 0.1 <0.1 <0.1 y
#% (mg/l) 1 <0.3 <0.3 =
#i  (mg/) 2 <0.5 <0.5 y o
#r (mg/l) 2 <1 <1 2
§#  (mg/) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
#2 (mg/) 2 <1 <1 P
R (mg/) 2 <0.4 <0.4 =
¥ (mg/) 5 <1 <1 o
#r (mg/) 2 <1 <1 s
H 5 & EEE#H (ng/) 10 <7.0-70 7.0 =
Bl (mg/l) 5 1.0-1.2 1.1 P
#  (mg/l) 10 <2 <2 y
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Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 yass
AR LN (mgl) 0.01 <0.01 <0.01 s
FEEHEY
AEE (mel) 0.1 <0.06 <0.06 s
EEHiLEeEyw
1,1,1-= & 2 J5E (mg/) 0.05 <0.025 <0.025 =
ZEBE -
% SR 4 & (me/) 0.003 <0.003 <0.003 y
B YA #
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(HEmg ) ® (B/E)
() =+srEPaE @
f¥okr  (kg/0.5h) 0.58 0.02-0.14 0.06 e
— & 1ERT (kg/0.5h) 3.86 0.00-0.71 0.05 s
B L (keg/0.5h) 1.16 0.00 —0.08 0.02 =
#ILE  (kg/0.5h) 0.08 0.00 - 0.00 0.00 =
ALY 0.78 - 2.48 1.40
(M Z & 18 & i &) 7.71 =
(kg/0.5h)
daF R (ke/0.5h) 0.39 0.00 - 0.04 0.00 yes
— & 1B t% (kg/0.5h) 1.93 0.00 - 0.55 0.13 =
() HigE ©
ok (kg/day) 9.25 2.80 - 2.97 2.88 s
— & AbH (kg/day) 46.27 1.71-3.05 2.38 yiss
B4 % (kg/day) 9.25 0.66 — 0.82 0.74 =
#wALE (ke/day) 0.93 0.00 - 0.00 0.00 yes
&Y
(M = &1L & 5 &) 185.06 65.23 — 67.06 66.14 =
(kg/day)
M R (kg/day) 9.25 0.19-0.21 0.20 s
— & (BB (kg/day) 46.27 6.43 -7.01 6.72 =
(W) HAt
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(HEme %) ® (B/E)
= = (L A
Zé%%%g%f%) (ke/h) 093 A i
BEBEALEY)
(MHEtsE & & H) 0.73 i A
(kg/h)
W% F% (AW % 51 5 (ke/h) 1.45 i A3
BhAEE (DA TR (ke/h) 0.21 iR A
R RORAEE (ke/h) 0.19 i A3
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g/h)
EESBE_E)O:
fift (kg/h) 0.0023 AiEH i
BEeEE _HNEE ,
Zfﬂi’%'(% DIEE | (o0 R R
g/h)
K (kg/h) 0.0019 AiEH N
TEEHE (ng/h) 2 891 A3 Nl
=E:
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28 P22 1l IR G R S 39 8 TFEMRE
(B/&)
E—E8a
B4 i (K (%1&8@@:) 12-125 12.2 =
EBEAL D) | peme| ° £
EBEE
#% (ppm) 05 <0.5 <0.5 y
7K (ppm) 0.1 <0.02 - 0.023 0.020 s
s E  (ppm) 10 <0.5-3.2 0.62 s
S (ppm) _ <0.5-4.0 0.71 ]
$8 (ppm) - <0.5 <0.5 -
i (ppm) - <1.0-3.7 1.3 -
#£  (ppm) - <0.5-0.96 0.54 -
o~ $F S FEAY <2.5-6.0 3.0 —
#7 (ppm) 2 =
# (ppm) 20 <1 <1 s
W% (ppm) 10 <5 <5 =
RAAEE (ppm) 10 <2 <2 s
FALY (ppm) 5 <5 <5 pss
£
HEEMAERY S <15 <15 .
2 (ppm) 5,000 s
AN EREER <5-58 5.1 .
(ppm) 10 =
AL EHHEE <2 <2 _
(ppm) 2 =
% & WK (ppm) 1 <1 <1 s
TCDD (ITEF %) <1 <1 ~
1 TE

(ppb)
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